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Divide Whole Number by Decimal

Solve the following problems.

12 0.6÷ =

18 0.9÷ =

4 0.16÷ =

5 0.02÷ =

32 0.08÷ =

25 0.5÷ =

4 0.05÷ =

14 0.07÷ =

24 0.5÷ =

12 0.24÷ =

28 0.28÷ =

32 0.64÷ =

24 0.2÷ =

3 0.12÷ =

6 0.24÷ =

8 1.6÷ =

16 0.4÷ =

16 0.8÷ =

12 0.25÷ =

15 0.3÷ =

56 0.14÷ =

21 0.5÷ =

3 0.25÷ =
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Answers

Solve the following problems.

2012 0.6÷ =

2018 0.9÷ =

254 0.16÷ =

2505 0.02÷ =

40032 0.08÷ =

5025 0.5÷ =

804 0.05÷ =

20014 0.07÷ =

4824 0.5÷ =

5012 0.24÷ =

10028 0.28÷ =

5032 0.64÷ =

12024 0.2÷ =

253 0.12÷ =

256 0.24÷ =

58 1.6÷ =

4016 0.4÷ =

2016 0.8÷ =

4812 0.25÷ =

5015 0.3÷ =

40056 0.14÷ =

4221 0.5÷ =

123 0.25÷ =


